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EG 32: Basic Probability and Statistics

Homework Assignment

1.
The following data gives the number of automobiles owned by each of the 30 families in a city
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(a) Prepare a frequency distribution table for this data set using single-valued classes

(b) Calculate the relative frequency and percentage distributions

(c) Find the percentage of the families in this sample having two or three automobiles

(d) Draw a bar graph for the relative frequency distribution

2.
The following data refers to the pay (in thousands of dollars) of 12 employees at a manufacturing company:
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69
65
49
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18
18
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16
16        15

(a) Calculate the mean, median, and mode for this data

(b) Find the range, variance, and standard deviation.

3.
The following data gives the number of new computer systems sold during a 19-day period.
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84
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45
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98
84

(a)
Calculate the values of the three quartiles and the interquartile range.  Where does the value of 81 lies in relation to these quartiles?

(b) Calculate the approximate value of the 93rd quartile.

(c) Find the percentile rank of 82.

4.
The two-way classification of data of 2000 randomly selected employees of a manufacturing company from a city based on gender and commuting time from residence to work place.

	Gender
	Commuting time from residence to workplace
	Total

	Men

Women
	Less than 30 min

525

410
	30 min to 1 hour

450

250
	More than 1hour

225

140
	1200

800

	Total
	935
	700
	365
	2000


(a) If one employee is selected at random from these 2000 employees, find the probability that this employee 

(i)  commutes from more than 1 hour

(ii)  commute for less than 30 minutes

(iii)  is a man commuting for 30 min to 1 hour 

(iv)  is a woman commuting for more than 1 hour

(b) Determine if the following events are mutually exclusive

(i)  ‘men’ and ‘commuting for more than 1 hour’

(ii)  ‘less than 30 min’ and ‘more than 1 hour’

(iii)  ‘woman’ and ‘commutes for 30 minutes to 1 hour’. Are these events independent?

5. 
The life span of a calculator manufactured by Intal Corporation has a normal distribution with a mean of 54 months and a standard deviation of 8 months.  The company guarantees that a new one will replace any calculator that starts malfunctioning within 36 months of the purchase.

(a)
about what percentage of such calculators made by this company are expected to be replaced?

(b)
what should the warranty period be to replace a malfunctioning calculator if the company does not want to replace more than 1% of all the calculators sold?
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